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VIL.
But getting back to ODIUS or CDE and an Aneient Calendar

By Ancient calenlations one CDE or expression was the TIME diameter

for a Calendar.
The civilized sclentist put it togsther as follows:
ODE= s diameter for time 11 days
referenced as the LAW OF NATURE.

3 ODES= one generation of 33 days.
11 Cenerations= The Seasons or Tuff 363 days.

plus: Sun that stands still at the
north and south lines zi davys
365¢ days.

Let me show you how it should have been translated.

180 1f12 atoms x 12 daya; 2160(which iz the first table of the 200 |
{tables of . the WINTER TABLES: or.TIMES |

(OF THE BEAST or SATAAN'S TABLES,. What)
[the Sioux eall THE WINTER COUNT. !

You slready know that 180 1/1, atoms is 23.867405 hours in TIME

23, 867405 x 12 =286.508%6 hours or 11.933702 days in TIME.

So, the Ancient figure of 2160 atoms is the same as 11.933702 days
and that one compiete WINTER COUNT is &.5347031 years in TIME only.

One ODE= 11.933702 days
3 ODES = 35.801106 days

11 Gener.= 393.81216 days
plus 3.97798 days the Susl stood still at the north and south

lines
equals 197.7901L days
- . which is Twol2) cycles of TIME.
400 days would be the time in LIGHT.
T csnnot say that the civilized learning system has surpassed the
tesching methods of my Crandmother who spoke ne civilized language.

But then sgain, its easier to ssy, LITHT travels =t 185,000 niles

per second without knowing why.
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VIIL
But getting back to ODIUS or ODE and an Ancient Calendar
By Ancient calculations one ODE or expression was the TIP-'IE diameter
for' a Calendar.
The civilized scientist put it together as follows :
ODE= a diameter for time 11 days
referenced as the LAW OF NATURE. 3 one generation of 33 days. 1l Gener‘ations= The Seasons or Tuff 363 days.
plus: Sun that stands still at the
north and south lines 2? dgyg
365; days.
Let me show you how it should have been translated.

180 1/12 atoms x 12 days= 2160(which is the first table of the 200 ) (tables oi'.the' IWINTER TABLES: or' TIME'S ) (OF THE
BEAST OI* SATAAN'S TABLES. What) (the SiOuX Call THE WINTER COUNT.

You already know that 180 1/12 atoms is 23.867hO5 hours in TIME
X 12 hours or 11.933702 days in TIME.
So, the Ancient figure of 2160 atoms is the same as 11.933702 days
and that one complete WINTER COUNT is 6.53b7031 years in TIME only.
One ODE= 11.933702 days 3 ODES =35.801106 days 11 Gener'.=393.81216 days
plus 3.97798 days the stood still at the north and south
» lines equals 397.79014 days
which is Two(2) cycles of TIME. _
MDO days would he the time in LIGHT.
I cannot say that the civilized learning system has surpassed the
teaching: methods of my Grandmother who spoke no civilized language.
_ But then again, its easier* to say, LICHT travels at 186,000 miles

per secbnd without knowing: why.



